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XII-FP] , 8
PR Full Portion Test - 1
, Standard X11
BIOLOGY g
Time : 3.00 hrs. Marks : 70

Instructions: 1 ) Check the question paper for fairness of printing. If there Is any lack of fairness, inform |
the Hall Supervisor immediately.

2) Use Black or Blue ink to write and underline and pencil to draw diagrams.
Note: Candidate should answer Part - I (Botany) & Part - Il (Zoology) in separate answer - books.

PART -1- BIO-BOTANY (MARKS : 35)
: ' Section - A 8x1=8
Note: i)  Answer all the questions.

ii) Choose the most suitable answer from the given four alternatives and write the option code and
the corresponding answer.

1. Match and find the correct answer.

A) Ovary 1) Zygote

B) Ovule 2) Endosperm

C) Secondary nucleus 3) Seed

D) Egg 4) Fruit

a) A-4,B-3,C-2, D-1 ‘ b).A<1, B-2,C-4,D-3
c) A -2, B-1,C<4 D=8k d) A-3,B-2,C-1,D-4

2. Find the odd man out with reference to autotriploidy '
a) They can be produced artificially by crossing between autotqtraplond & d1p101d
b) They are highly fertile due to large number of gametes ‘
¢) Cultivated triploid bananas are seedless having larger frults than d1p101d
d) Common doob cross is a natural autotriploid

3. Use of biology in industrial process and for nnprovmg quahty of hfe is called

o

a) Blotechnology
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6. Choose the incorrect pair. ) 9T s B

~a) Humification _ Detritus to dark humus . AL ey
b) Eluviation - Movement of organic and inorganic compound to. lower lay
¢) Detritus - Dead plants and anjmal waste :

d) Fragmentation - Release of inorganic nutrients from the humus

7. Desired improved variety of economically useful crops aré raised by e
a) Natural selection b) Hybridization .
~ ¢) Mutation ~ d) Biofertilisers :

8. Assertion : Vegetables are important part of healthy eating.
Reason : Vegetables are succulent structures of plants with

a) Assertion is correct, reason is wrong b) Assertion is wrong, reason l§ con:ect
c) Both are correct and reason is the correct explanation for assertion ;
_d) Both are correct and reason is not the correct explanatlon for asserhf)n
: ~ Section - B o b G
Note : Answer any four of the following questions. - . : ’
9. What is meant by pure breeding? , :
10. What is biofortification? ' B o o i
11. What are trichophyllus plants" Give example . : A ‘
12. Food web is known as basic unit of ecosystem. Why" -
" 13. Draw the pie diagram which shows relatlve (;onmbutlon of green house gases

14. Kodormllet is medlcallyuseﬁll.Dlscuss A t,(‘

pleasant aromam Vours
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PART - II - BIO-ZOOLOGY (MARKS : 35) ,
Section - A ‘ : 8x1=8

Note: i)  Answer all the questions.

L.

ii) Choose the most suitable answer from the given four alternatives and write the option code and
the corresponding answer.

Assertion :  Offsprings produced by a sexual reproduction are genetically identical to the ;
parent.

Reason : Asexual reproduction involves only mitosis and net in meiosis.

a) Both assertion and reason are true and reason is the correct explanation for assertion
b) Both assertion and reason are true but reason is not the correct explanation for assertion
c) Assertion true but reason is false d) Both assertion and reason are false

............... becomes the graafian follicle
a) Primaryfollicle = b) Secondary follicle - ¢) Tertiary follicle ~ d) Primary Oocyte

. Find the wrong statement.

a) Thalassemia related genes are in chromosome 16, 11
b) Phenylketonuriarelated gene is in chromosome 12

c) Albinism is due to lack of tyrosinase . %
d) Huntington’s chorea is due to allosomal dominant lethal gene

. Choose the wrongly matched pair.

a) Portion of DNA coding for an entire polypeptide is - Cistron
b) The cluster genes with related function are called - Operon
¢) Genes of bacteria and virus coding .for more than one polypeptide is known as -

monocistronic gene -
d) The largest known human gene is - Dystrophm
Age ofAnglospenns 1S, %00 Gk period. R : ,
a) Tertiary b) Quaternary ~ ¢) Cretacous d) Jurassic
. Match and find the correct answer. j |
1) Mumps Sgiii - s Ay Jomtswelhng
~ 2) Vinl Hepalms - B) Enlargementofthe parotid glands
~3) Chickenpox ~ C) Jaundice "
4) Chikingunya D) Rashandblisters .
(A=A 2D 3.C 4B b) 1-C 2-B 3-A 4-D

o4t A e d) 1 -Da2-A 3B 4-C
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7. The purpose of biological treatment of waste water isto ................ ¢
a) Reduce BOD ~ b) Increase BOD -
¢) Reduce sedimentation | d) Increase sedimentation % R

8. Choose the incorrect statement.

a) Identify and protect all threatened species b) Air, water and soil should be conserved
¢) Identify and protect artificial habitats for feeding & breeding of species _ AT
d) Wild Life Protections Act should not be implemented v

Section - B % -% £ . 4x2=8
Note : Answer any four of the following questions. ‘ . £ '}» 5 W e o4 e
9. Sponges have more power of regeneration. Give reason. R W, & s il
10. What is amniocentesis? Why a statutory ban is imposed on this techr

RAAT Y

11. Whatis the function of the H, histone? s »
12. Whatis Bursa of fabricius? ' |
13. Write the potential application_s of human stem cells. ° ,‘
14. What is SMOG and how it is harmful for us? (PN - iy

Section - C "" P e
Note: Answer any three questions. Q.No. 19 is compulso
15. Suggest the role of Oxytocm inchild birth.

.. YW
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